O] f(x) =3x3 —4x® +2x -k 7t x -2 & ISR 7HE o, & 9
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f(2)=24-16+4-k=0
sok=12




xoll g A 58+ ax? 4 br430] 2 412 Lo mol d u), 44
a. b B w7

D a=-1,b=3 @ a=1b=3

@ a=3b=-1 @ a=-3,b=-1

(@)a=3,b:1
B ~

B t+ax®+bx+3=(x2+1)(x+c)

=3 +cex’+x+c
a=c b=1¢c=3
ca=3,b=1




f(x) = x3+ax? + bx +c 2t FH,
f)y=14+a+b+c=3
f(2)=8+4a+2b+c=3
F(3)=27+9%+3b+c=3

Al A& Aokl 9

a=-6, b=11, ¢c = -3
flx) =x3-6x%+11x-3
. £(0) = -3
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® ap+ai+as+az+as+as

Lei2) Aol 8l f(a) = 0
Sff())E x—a R U WA= f(f(@)
f(f(@)) = £(0) = ag




xoll 3 ChHA] £(x) S (x—1)2 0.2 gl me] U Ae x4 1
o1, x+ 28 gl me] YA solth, f(x) & (x—1)2(x+2)
R A C RS R

@ x2-x-2 Ox2—x+2 @ x24+x-2

@ —x?+ 3x ® —x>+3x+2
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fOE (x-1)2(x+2) 2 S d9] %& 0(x), UHA=
ax?® + bx + c2f 5H
f(x)=(x-1)%(x+2)Q(x) + ax®> + bx+ ¢
fx) = (x-1)2(x+2)0(x) +alx-1)*+ (x+1)
(- f()F (- 1202 WrlS 1] YeiAE x 4 1)
G x =28 WA f(-2) =9a+ (-2) +1=38
La=1
ax* +bx+c=a(x-1)2+x+1=x>-x+2

T UMA = 22 - x +2




